
VANTAGE™ 
Whirlpool Bath 
with Surround 

PARTS CATALOG 

Model fD441 000 
Model fD442000 
Issue Date: 8/93 

Catalog 18882000 

csr111
Typewritten Text
Guillen's Enterprises, inc
     jacuzziparts.com
       800-222-7855

http://www.guillens.com/


CONTENTS 

Discharge Plumbing 
Suction Plumbing 

......................................................................... 1 

Air Line Piping 
Surround/Skirt Assembly 

TO ORDER 
Order by part number unless otherwise noted. 
Quantities shown in this catalog indicate the 
number of items required. When ordering, 
specify the quantity needed. 

2 
3 
4 

Sea General Bath Parts Catalog for infonnatlon on the following: 

Suction Cover 
Suction Fitting 
Faucet Valve 
Lamp/Transformer/Actuator Assembly 
J-Pump/Motor Assembly 

Cap - - -1 

3-Position 
Control Panel 

Air Line Piping-

HTC Jet 
Assembly 

Suction Fitting 
Suction Plumbing 

Air Switch/Actuator/Air Switch Plug 
Drain/Overflow 
Timer Assembly 
HTC Jet Assembly 

- -- Surround 

Serial Number 
and Product Specifications 

Shown with Skirt and Frame Assemblies removed. 
See Page 4 for details. 

NOTE: This catalog applies to 
Left-Hand and Right-Hand Vantage Units 

.. with Surround. 

csr111
Typewritten Text
Guillen's Enterprises, inc
     jacuzziparts.com
       800-222-7855

http://www.guillens.com/


VANTAGE. 
DISCHARGE PLUMBING 

Model 10441000 
Model 10442000 
Issue Date: 8193 

1 1/2" Flex PVC 
X 18.00'l. 

*To HTC Jet 

*To HTC Jet 

*To HTC Jet 

1 1/2' Flex PVC 
NOTE: Apply flex PVC primer x 32.50"L. 
to flex PVC prior to bonding 
w ith flex PVC cement. 

•see General Bath Parts Catalog 

ITEM PIN DESCRIPTION 
1 9250000 Repair Kit, Union Adapter 
2 

~= 
0-Ring, Union 

3 Tee, Rdcng, 1 1/2' X 1 1/2" X 2" 
4 01 000 Ell, 45, 1 1/2", S X S 
5 0167000 Tee, 1 1/2", S X S X S 
6 0239000 Ell, 90, 1 1/2', s X s 

1 

*To HTC Jet 

*To .75 HP 
J-Pump 
Discharge 

QTY 

1 
1 
1 
1 
2 
2 

1 1/2' PVC 
X 2.50"l. 
(Shown for 
reference. 
Not available 
as a repair 
part.) 

csr111
Typewritten Text
Guillen's Enterprises, inc
     jacuzziparts.com
       800-222-7855

http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 9250
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 9231
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 2949
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 0157
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 0167
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 0239
http://www.guillens.com/


VANTAGE 
SUCTION PLUMBING 

*To .75 HP 
J-Pump Suction 

NOTE: Apply flex PVC primer 
to f lex PVC prior to bonding 
with flex PVC cement. 

*To Suction Fitting 

4 

Model 10441000 
Model 10442000 
Issue Date: 8193 

1 

2" PVC x 14.00"L. 
(Shown for reference. 
Not available as a 
repair part.) 

2" Flex PVC 
X 15.00"l. •See General Bath Parts Catalog 

ITEM PIN DESCRIPTION 
1 9250000 Repair Kit, Union Adapter 
2 9231000 0-Ring, Union 
3 0426000 Ell, 90, 2", S X S 
4 0851000 Coupling, 2", S x S 

•• 5 8071000 Ell, Drain Down, LH 
••• 5 8072000 Ell, Drain Down, RH 

••used on Right-Hand Vantage 
• • *Used on Left-Hand Vantage 

2 

QTY 
1 
1 
1 
1 
1 
1 

csr111
Typewritten Text
Guillen's Enterprises, inc
     jacuzziparts.com
       800-222-7855

http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 9250
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 9231
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 0426
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 0851
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC B071
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC B072
http://www.guillens.com/


1/2' Flex PVC 
X 50.00'l. 

•ro HTC Jet 

? 
1/2' Flex PVC 
X 9.CX>"L. 

VANTAGE 
AIR LINE PIPING 

Model 10441000 
Model 10442000 
Issue Date: 8J93 

•ro 3-Position 

r~PMol 

•ro HTC Jet 

1f2' Flex PVC ""~ ~ 
X 6.00'l. @ -

1 f2' Flex PVC 
X 5.00'L 

1/2' Flex PVC 
X 11.00'L 

•To HTC 
Jet 

NOTE: Apply flex PVC primer to flex PVC 
prior to bonding with flex PVC cement. 

HTCJet ~ 
Shown for reference 

ITEM PIN DESCRIPTION QTY 
1 0647000 Coupling, 1/2' , S x S 1 
2 0436000 Ell, 90, 1/2', s X s 1 
3 0455000 Tee, 1/2", S x S x S 2 
4 7164000 Ell, Street, 1 /2", 90 1 
5 C279000 Adapter, 1/2", S x SPGT 4 
6 8777000 Plug, 1/2", SPIG 4 

3 

csr111
Typewritten Text
Guillen's Enterprises, inc
     jacuzziparts.com
       800-222-7855

http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 0647
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 0436
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 0455
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 7164
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC C279
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC B777
http://www.guillens.com/


VANTAGE Model 10441000 
Model ID442000 
Issue Date: 8193 

SURROUND/SKIRT ASSEMBLY 

(Unit shown with skirt and frame removed) 

ITEM 
1 
2 
3 

1/4--20 Hanger Bolt 

Wood Block Bonded to Bottom of 
Flange 

FLANGE MOUNTlNG DETAIL 
(TYPICAL CONFIGURAnON-20 PLACES) 

PIN 
3992832 
3982832 
0316000 

SKIRT ~ 

DESCRIPTION 
Nut. Hex. UNC-2B, 1/4-20 
Washer, 1/4 Fit. T~ A Pin Wd Ser 
Washer, Cushion 

QTY 
20 
20 
20 

ITEM PIN DESCRIPTION QTY \ -• 1 D467XXX Skirt, Vantage 1 
• 2 D426XXX Skirt Frame, Vantage 1 

3 3973000 Screw, Mach. PHP, #1 0-24 x . 75'L. 2 
4 3941000 Screw, ShtMtl, PHPGP #8-18 x .50"L. 4 
5 0552000 Fastening Strap, Vantage. . 2 
6 3943000 Screw, ShtMtl, PHPGP #1 0-16 x 1.0'L. 2 

N.S 9906000 Fastener, Flat #1 0-16 Thd 2 

*Color Select. Available in Builder Colors. 

N.S.=Not Shown. This washer fastens to Item 6. 

~ 

SKIRT FRAME 

4 

SKIRT FASTENING DETAIL 
Install Velcro strips in skirt frame 
and seat skirt in frame. 

csr111
Typewritten Text
Guillen's Enterprises, inc
     jacuzziparts.com
       800-222-7855

http://www.guillens.com/index.jsp?path=find&a=1&text=JAC D467
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC D426
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 3973
http://www.guillens.com/


PRODUCT SPECIFICATIONS ARE SUBJECT TO CHANGE WITHOUT NOTICE. 
USE INSTALLATION INSTRUCTIONS SUPPLIED WITH PRODUCT. 

Jacuzzi Whirlpool Bath has obtained applicable code (standards) listings generally available on a national basis for products of 
this type. It is the responsibility of the installer/owner to determine specific local code compliance prior to installation of the product. 
Jacuzzi Whirlpool Bath makes no representation or warranty regarding, and will not be responsible for any code compliance. 

JACliZZI WHIRLPOOL BATH 
Jacuzzi Whirlpool Bath National Headquarters 

P.O. Drawer J, Walnut Creek, CA 94596 (510) 938-7070 

Service Support: Call (800) 288-4002 

Jacuzzi Whirlpool Bath Regional Offices 

Western Region: 2121 No. California Blvd., Suite 475, Walnut Creek, CA 94596 (510) 938-7070 
Midwest Region: 2500 West Higgins Rd., Suite 1000, Hoffman Estates, IL 60195 (708} 882-8788 
Southern Region: 2300 Northlake Centre Drive , Suite 200, Tucker, GA 30084 (770) 492-9901 

Eastern Region: 1680 Route 23, Suite 150, Wayne, NJ 0747,0 (201) 696-7704 

<C Copyright 1993 Jacuzzi Whirlpool Bath 8882000 8193 

@ Printed on recycled paper. 

csr111
Typewritten Text
Guillen's Enterprises, inc
     jacuzziparts.com
       800-222-7855

http://www.guillens.com/

	Main Menu
	Baths Menu
	Discontinued Menu
	Help

	Guillen Button: 


